Exam 3	Chem 3045x	Friday, October 20, 2000








Instructions:  This is an closed book examination. Please print your name and social security number on the front page of the examination.   Be sure to allot your time in a manner that is related to the point value of the question.  Be sure to show your reasoning wherever possible for partial credit.








All material to be graded must be on one of the pages of the exam with your name and social security number on the front page.  If you need more space than is available on the page with the questions, use the back page or the previous page and label the number of the question on that page.








Your Name:  _________________________________________








Your Soc. Sec. Number: _______________________________





Time for the exam:    50 minutes (10:00 to 10:50 AM).





Question 1:    	10 points	_______________


Question 2:  	10 points	_______________


Question 3: 	20 points	_______________


Question 4:  	20 points	_______________


Question 5:    	10 points 	_______________


Question 6:	10 Points	_______________


Question 7:	10 Points	_______________


Question 8:	10 Points	_______________	������������


___________________


Total:		100 Points	_______________








�
(1)	10 Points. Give the structure of the most stable alkene of composition C6H12.  Provide the reasons for your selection.





Most substituted





�
































(2)	10 Points. Each of the two reactions below produces one major product and one minor product. Draw the structure of the major product and the minor product. Do not draw mechanisms, just the product structure. Indicate stereochemistry clearly if appropriate.





							Major Product		Minor Product








�





�
(3)	20 Points.  Draw the structure of the major product you expect to be formed in the following reactions.  Do not draw mechanisms, just draw structures.  Indicate stereochemistry clearly if appropriate.














�








�
(4)	20 Points. Suggest a synthesis of the indicated target structures from the indicated precursor structures. 








�















































�





�
(5)	10 Points.  Suggest a mechanism for the observation that treatment of A with dilute acid results in formation of the alkene B in high yield.











�





�
(6)	10 Points.  Which of the compounds (A, B, C or D) would you expect to react faster when treated with strong base in an appropriate solvent? Which of the compounds (A, B, C or D) would you expect to react slowest when treated with strong base in an appropriate solvent?  Give a brief explanation of your reasoning.





�





C goes fastest, antiperiplanar in most stable conformation and also better leaving group.


B goes slowest, need to go to less stable conformation to get anti-periplanar relationship, and Cl is a poorer leaving group.�
(7)	10 Points.  Treatment of 2-pentanol with concentrated sulfuric acid results in the formation of three alkenes in differing yields.  Draw the structures of the three alkenes you expect were formed.  Which is the major product?  Which is the minor product?





�





�
(8)	10 Points.  Treatment of compound A (C5H���10O) with dilute acid results in formation of the isomeric cyclic compound B in good yield.  Suggest a plausible mechanism for formation of B.





�
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